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énoncé

On considère les points A(1 − 2i), B(1 + 3i) et C(2 − i) l’affixe du point D tel

que ABCD soit un parallélogramme est :

a) 2 − 6i

b) 2 + 4i

c) 4i

d) 5
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correction

ABCD parallélogramme
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correction

ABCD parallélogramme ⇔
−→
AB =

−→
DC
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correction

ABCD parallélogramme ⇔
−→
AB =

−→
DC

⇔ z−→
AB

= z−→
DC
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correction

ABCD parallélogramme ⇔
−→
AB =

−→
DC

⇔ z−→
AB

= z−→
DC

⇔ zB − zA = zC − zD
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correction

ABCD parallélogramme ⇔
−→
AB =

−→
DC

⇔ z−→
AB

= z−→
DC

⇔ zB − zA = zC − zD

⇔ zD = zC − zB + zA
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correction

ABCD parallélogramme ⇔
−→
AB =

−→
DC

⇔ z−→
AB

= z−→
DC

⇔ zB − zA = zC − zD

⇔ zD = zC − zB + zA

⇔ zD = 2 − i − (1 + 3i) + 1 − 2i
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correction

ABCD parallélogramme ⇔
−→
AB =

−→
DC

⇔ z−→
AB

= z−→
DC

⇔ zB − zA = zC − zD

⇔ zD = zC − zB + zA

⇔ zD = 2 − i − (1 + 3i) + 1 − 2i

⇔ zD = 2 − i − 1 − 3i + 1 − 2i
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correction

ABCD parallélogramme ⇔
−→
AB =

−→
DC

⇔ z−→
AB

= z−→
DC

⇔ zB − zA = zC − zD

⇔ zD = zC − zB + zA

⇔ zD = 2 − i − (1 + 3i) + 1 − 2i

⇔ zD = 2 − i − 1 − 3i + 1 − 2i

⇔ zD = 2 − 6i
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correction

ABCD parallélogramme ⇔
−→
AB =

−→
DC

⇔ z−→
AB

= z−→
DC

⇔ zB − zA = zC − zD

⇔ zD = zC − zB + zA

⇔ zD = 2 − i − (1 + 3i) + 1 − 2i

⇔ zD = 2 − i − 1 − 3i + 1 − 2i

⇔ zD = 2 − 6i

réponse a)
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